

## SUMS OF PRODUCTS OF CAUCHY POLYNOMIALS, INCLUDING POLY-CAUCHY POLYNOMIALS

TAKAO KOMATSU

(Communicated by F. Mokrane)

ABSTRACT. We investigate sums of products of Cauchy polynomials including poly-Cauchy polynomials. Recently, the concept of poly-Cauchy polynomials has been given by the author as a generalization of the classical Cauchy number and polynomial. A relation among these sums and explicit expressions of sums of two and three products are also given.

### 1. INTRODUCTION

The Bernoulli polynomials  $B_n(z)$  are defined by the generating function

$$\frac{xe^{xz}}{e^x - 1} = \sum_{n=0}^{\infty} B_n(z) \frac{x^n}{n!}.$$

These polynomials satisfy the identity (see e.g. [3], [5, Ch. 50], [14])

$$(1) \sum_{l=0}^n \binom{n}{l} B_l(x) B_{n-l}(y) = n(x+y-1)B_{n-1}(x+y) - (n-1)B_n(x+y) \quad (n \geq 1).$$

As an analogous result in Bernoulli polynomials, we shall show the following result in Cauchy polynomials (of the first kind) (see e.g. [1]).

**Theorem 1.1.**

$$\sum_{l=0}^n \binom{n}{l} c_l(x) c_{n-l}(y) = -n(x+y+n-2)c_{n-1}(x+y) - (n-1)c_n(x+y) \quad (n \geq 1),$$

where the Cauchy polynomials  $c_n(z)$  are defined by the generating function

$$\frac{1}{(1+x)^z} \frac{x}{\ln(1+x)} = \sum_{n=0}^{\infty} c_n(z) \frac{x^n}{n!}.$$

---

Received 01.07.2012; revised 16.11.2013.

2000 *Mathematics Subject Classification.* Primary 05A15, 11B75.

*Key words and phrases.* Cauchy numbers, Cauchy polynomials, poly-Cauchy numbers, poly-Cauchy polynomials, sums of products.

This work was supported in part by the Grant-in-Aid for Scientific research (C) (No. 22540005), the Japan Society for the Promotion of Science.

**Remark.** If  $x = y = 0$ , then the identity in the above theorem is reduced to

$$\sum_{l=0}^n \binom{n}{l} c_l c_{n-l} = -n(n-2)c_{n-1} - (n-1)c_n \quad (n \geq 1),$$

which is obtained in [15, Theorem 2.1].

For this purpose, we consider the function  $T_m^{(k)}(n; z_1, \dots, z_m)$  for  $m \geq 1$ ,  $k \in \mathbb{Z}$ ,  $n \geq 0$

$$T_m^{(k)}(n; z_1, \dots, z_m) := \sum_{\substack{i_1 + \dots + i_m = n \\ i_1, \dots, i_m \geq 0}} \binom{n}{i_1, \dots, i_m} \underbrace{c_{i_1}(z_1) \dots c_{i_{m-1}}(z_{m-1})}_{m-1} c_{i_m}^{(k)}(z_m),$$

where  $\binom{n}{i_1, \dots, i_m}$  is the multinomial coefficient defined by

$$\binom{n}{i_1, \dots, i_m} = \frac{n!}{i_1! \dots i_m!}.$$

Here,  $c_n^{(k)}(z)$  are the *poly-Cauchy polynomials* (of the first kind) ( $n \geq 0$ ,  $k \in \mathbb{Z}$ ) defined by the generating function

$$\frac{\text{Lif}_k(\ln(1+x))}{(1+x)^z} = \sum_{n=0}^{\infty} c_n^{(k)}(z) \frac{x^n}{n!},$$

where

$$\text{Lif}_k(z) = \sum_{m=0}^{\infty} \frac{z^m}{m!(m+1)^k}$$

is the  $k$ -th *polylogarithm factorial* function introduced in [10, 7]. When  $k = 1$ ,  $c_n^{(1)}(z) = c_n(z)$  are the Cauchy polynomials of the first kind. When  $z = 0$ ,  $c_n^{(k)}(0) = c_n^{(k)}$  are the poly-Cauchy numbers of the first kind, which are also introduced in [10]. Notice that poly-Cauchy polynomials of the first kind  $c_n^{(k)}(z)$  can be expressed explicitly in terms of the (unsigned) Stirling numbers of the first kind  $\left[ \begin{smallmatrix} n \\ m \end{smallmatrix} \right]$ :

$$c_n^{(k)}(z) = \sum_{m=0}^n \left[ \begin{smallmatrix} n \\ m \end{smallmatrix} \right] (-1)^{n-m} \sum_{i=0}^m \binom{m}{i} \frac{(-z)^i}{(m-i+1)^k}.$$

([7, Theorem 1]).

Then we shall show the following.

**Theorem 1.2.** For any integer  $k$ , we have for  $n = m, m+1, \dots$

$$\begin{aligned} & \sum_{l=0}^m (-1)^{m-l} \left[ \begin{smallmatrix} m+1 \\ l+1 \end{smallmatrix} \right] T_{m+1}^{(k-l)}(n; z_1, \dots, z_{m+1}) \\ &= \sum_{r=0}^m \sum_{i=0}^{n-m} \frac{n!}{i!} \left\{ \begin{smallmatrix} m \\ r \end{smallmatrix} \right\} \sum_{j=0}^r \binom{r}{j} \binom{j}{n-m-i} \underbrace{z(z-1) \dots (z-r+j+1)}_{r-j} c_{j+i}^{(k)}(z), \end{aligned}$$

where  $z = z_1 + \cdots + z_{m+1}$ . For  $0 \leq n \leq m-1$  we have

$$\sum_{l=0}^m (-1)^{m-l} \begin{bmatrix} m+1 \\ l+1 \end{bmatrix} T_{m+1}^{(k-l)}(n; z_1, \dots, z_{m+1}) = 0.$$

**Remark.** If  $z_1 = \cdots = z_{m+1} = 0$ , then we have

$$\begin{aligned} & \sum_{l=0}^m (-1)^{m-l} \begin{bmatrix} m+1 \\ l+1 \end{bmatrix} T_{m+1}^{(k-l)}(n) \\ &= \sum_{r=0}^m \sum_{i=0}^{n-m} \frac{n!}{i!} \begin{Bmatrix} m \\ r \end{Bmatrix} \binom{r}{r} \binom{r}{n-m-i} c_{r+i}^{(k)} \\ &= \sum_{r=0}^m \sum_{i=0}^{n-m} \frac{n!}{i!} \binom{r}{n-m-i} \begin{Bmatrix} m \\ r \end{Bmatrix} c_{r+i}^{(k)}, \end{aligned}$$

which is [12, Theorem 1].

The generating function of  $T_m^{(k)}(n; z_1, \dots, z_m)$  is given by

$$\begin{aligned} & \frac{1}{(1+x)^{z_1+\cdots+z_{m-1}+z_m}} \left( \frac{x}{\ln(1+x)} \right)^{m-1} \text{Lif}_k(\ln(1+x)) \\ &= \sum_{n=0}^{\infty} T_m^{(k)}(n; z_1, \dots, z_m) \frac{x^n}{n!}. \end{aligned}$$

Put

$$G_k(x) := \text{Lif}_k(\ln(1+x)) = \sum_{n=0}^{\infty} c_n^{(k)} \frac{x^n}{n!}.$$

Since

$$\text{Lif}_1(t) = \frac{e^t - 1}{t}, \quad \text{Lif}_0(t) = e^t \quad \text{and} \quad \text{Lif}_{-1}(t) = (t+1)e^t,$$

we have

$$G_1(x) = \frac{x}{\ln(1+x)}, \quad G_0(x) = 1+x \quad \text{and} \quad G_{-1}(x) = (1+x)(\ln(1+x) + 1).$$

Since

$$(2) \quad x^m \frac{d^l}{dx^l} G_k(x) = \sum_{i=0}^{\infty} c_{l+i}^{(k)} \frac{x^{m+i}}{i!} \quad (m, l \geq 0, k \in \mathbb{Z}),$$

the coefficient of  $x^n$  in

$$x^m \frac{d^l}{dx^l} G_k(x)$$

is equal to

$$\begin{cases} \frac{c_{n-m+l}^{(k)}}{(n-m)!} & (n \geq m); \\ 0 & (0 \leq n \leq m-1). \end{cases}$$

We need the following Lemma ([12, Lemma 2]) in order to prove Theorem 1.2.

**Lemma 1.3.** For an integer  $k$  and a positive integer  $m$ , we have

$$\begin{aligned} & \left( \left\{ \begin{matrix} m \\ m \end{matrix} \right\} \frac{d^m}{dx^m} + \left\{ \begin{matrix} m \\ m-1 \end{matrix} \right\} \frac{1}{1+x} \frac{d^{m-1}}{dx^{m-1}} + \cdots + \left\{ \begin{matrix} m \\ 1 \end{matrix} \right\} \frac{1}{(1+x)^{m-1}} \frac{d}{dx} \right) G_k(x) \\ &= \frac{1}{(1+x)^m (\ln(1+x))^m} \sum_{l=0}^m (-1)^{m-l} \left[ \begin{matrix} m+1 \\ l+1 \end{matrix} \right] G_{k-l}(x). \end{aligned}$$

**Lemma 1.4.**

$$\frac{1}{(1+x)^z} \sum_{n=0}^{\infty} c_{n+r}^{(k)} \frac{x^n}{n!} = \sum_{j=0}^r \binom{r}{j} \frac{\overbrace{z(z-1)\cdots(z-r-j+1)}^{r-j}}{(1+x)^{r-j}} \sum_{n=0}^{\infty} c_{n+j}^{(k)}(z) \frac{x^n}{n!}.$$

*Proof.* Notice that

$$\frac{1}{(1+x)^z} \sum_{n=0}^{\infty} c_n^{(k)} \frac{x^n}{n!} = \sum_{n=0}^{\infty} c_n^{(k)}(z) \frac{x^n}{n!}.$$

By induction, we can prove that

$$\frac{1}{(1+x)^z} \frac{d^r}{dx^r} \sum_{n=0}^{\infty} c_n^{(k)} \frac{x^n}{n!} = \sum_{i=0}^r \binom{r}{i} \frac{\overbrace{z(z-1)\cdots(z-i+1)}^i}{(1+x)^i} \frac{d^{r-i}}{dx^{r-i}} \sum_{n=0}^{\infty} c_n^{(k)}(z) \frac{x^n}{n!}.$$

Since

$$\frac{d^r}{dx^r} \sum_{n=0}^{\infty} c_n^{(k)} \frac{x^n}{n!} = \sum_{n=0}^{\infty} c_{n+r}^{(k)} \frac{x^n}{n!},$$

we get

$$\begin{aligned} \frac{1}{(1+x)^z} \sum_{n=0}^{\infty} c_{n+r}^{(k)} \frac{x^n}{n!} &= \sum_{j=0}^r \binom{r}{j} \frac{\overbrace{z(z-1)\cdots(z-j+1)}^j}{(1+x)^j} \sum_{n=0}^{\infty} c_{n+r-j}^{(k)}(z) \frac{x^n}{n!} \\ &= \sum_{j=0}^r \binom{r}{j} \frac{\overbrace{z(z-1)\cdots(z-r+j+1)}^{r-j}}{(1+x)^{r-j}} \sum_{n=0}^{\infty} c_{n+j}^{(k)}(z) \frac{x^n}{n!}. \end{aligned}$$

□

*Proof of Theorem 1.2.* By Lemma 1.3 and Lemma 1.4, we obtain

$$\begin{aligned}
& \sum_{n=0}^{\infty} \sum_{l=0}^m (-1)^{m-l} \begin{bmatrix} m+1 \\ l+1 \end{bmatrix} T_{m+1}^{(k-l)}(n; z_1, \dots, z_{m+1}) \frac{x^n}{n!} \\
&= \frac{1}{(1+x)^z} \left( \frac{x}{\ln(1+x)} \right)^m \sum_{l=0}^m (-1)^{m-l} \begin{bmatrix} m+1 \\ l+1 \end{bmatrix} G_{k-l}(x) \quad (z = z_1 + \dots + z_{m+1}) \\
&= \frac{x^m}{(1+x)^z} \left( (1+x)^m \left\{ \begin{matrix} m \\ m \end{matrix} \right\} \frac{d^m}{dx^m} + (1+x)^{m-1} \left\{ \begin{matrix} m \\ m-1 \end{matrix} \right\} \frac{d^{m-1}}{dx^{m-1}} \right. \\
&\quad \left. + \dots + (1+x) \left\{ \begin{matrix} m \\ 1 \end{matrix} \right\} \frac{d}{dx} \right) G_k(x) \\
&= \frac{x^m}{(1+x)^z} \sum_{r=0}^m (1+x)^r \left\{ \begin{matrix} m \\ r \end{matrix} \right\} \sum_{i=0}^{\infty} c_{r+i}^{(k)} \frac{x^i}{i!} \\
&= x^m \sum_{r=0}^m (1+x)^r \left\{ \begin{matrix} m \\ r \end{matrix} \right\} \sum_{j=0}^r \binom{r}{j} \frac{z(z-1)\dots(z-r+j+1)}{(1+x)^{r-j}} \sum_{\nu=0}^{\infty} c_{\nu+j}^{(k)}(z) \frac{x^\nu}{\nu!} \\
&= x^m \sum_{r=0}^m \left\{ \begin{matrix} m \\ r \end{matrix} \right\} \sum_{j=0}^r \binom{r}{j} z(z-1)\dots(z-r+j+1) \cdot (1+x)^j \sum_{\nu=0}^{\infty} c_{\nu+j}^{(k)}(z) \frac{x^\nu}{\nu!} \\
&= x^m \sum_{r=0}^m \left\{ \begin{matrix} m \\ r \end{matrix} \right\} \sum_{j=0}^r \binom{r}{j} z(z-1)\dots(z-r+j+1) \sum_{n=0}^{\infty} \sum_{i=0}^n \binom{j}{n-i} c_{j+i}^{(k)}(z) \frac{x^n}{i!} \\
&= \sum_{n=m}^{\infty} \sum_{r=0}^m \sum_{i=0}^{n-m} \frac{n!}{i!} \left\{ \begin{matrix} m \\ r \end{matrix} \right\} \\
&\quad \sum_{j=0}^r \binom{r}{j} \binom{j}{n-m-i} \underbrace{z(z-1)\dots(z-r+j+1)}_{r-j} c_{j+i}^{(k)}(z) \frac{x^n}{n!}.
\end{aligned}$$

□

If we put  $m = 1$  in Theorem 1.2, we have the following.

**Corollary 1.5.** For  $n \geq 0$  and  $k \in \mathbb{Z}$

$$\sum_{i=0}^n \binom{n}{i} c_i(x) (c_{n-i}^{(k-1)}(y) - c_{n-i}^{(k)}(y)) = n((x+y+n-1)c_{n-1}^{(k)}(x+y) + c_n^{(k)}(x+y)).$$

2. EXPLICIT FORMULAE FOR  $T_2^{(k)}(n; x, y)$ 

**Theorem 2.1.** For  $n \geq 1$  we have

(3)

$$T_2^{(0)}(n; x, y) = c_n^{(1)}(x + y - 1) = \sum_{m=0}^n \begin{bmatrix} n \\ m \end{bmatrix} (-1)^{n-m} \sum_{i=0}^m \binom{m}{i} \frac{(-x - y + 1)^i}{m - i + 1},$$

$$T_2^{(k)}(n; x, y) = c_n^{(1)}(x + y - 1)$$

$$(4) \quad -n \sum_{j=1}^k (c_n^{(j)}(x + y) + (x + y + n - 1)c_{n-1}^{(j)}(x + y)) \quad (k \geq 1),$$

$$T_2^{(-k)}(n; x, y) = c_n^{(1)}(x + y - 1)$$

$$(5) \quad +n \sum_{j=0}^{k-1} (c_n^{(-j)}(x + y) + (x + y + n - 1)c_{n-1}^{(-j)}(x + y)) \quad (k \geq 1),$$

where  $c_n^{(1)}(x + y - 1) = c_n(x + y) + nc_{n-1}(x + y)$  ( $n \geq 1$ ).

*Proof.*

$$\begin{aligned} \sum_{n=0}^{\infty} T_2^{(0)}(n; z_1, z_2) \frac{x^n}{n!} &= \frac{1}{(1+x)^{z_1+z_2}} \frac{x}{\ln(1+x)} (1+x) \\ &= \frac{1}{(1+x)^{z_1+z_2-1}} \frac{x}{\ln(1+x)} \\ &= \sum_{n=0}^{\infty} c_n^{(1)}(z_1 + z_2 - 1) \frac{x^n}{n!}. \end{aligned}$$

Hence, the identity (3) holds.

Since

$$(6) \quad \sum_{n=0}^{\infty} c_n^{(k)}(z) \frac{x^n}{n!} = \frac{1}{(1+x)^z} \sum_{n=0}^{\infty} c_n^{(k)} \frac{x^n}{n!},$$

we have

$$\begin{aligned} \sum_{n=0}^{\infty} T_2^{(0)}(n; z_1, z_2) \frac{x^n}{n!} &= (1+x) \frac{1}{(1+x)^{z_1+z_2}} \frac{x}{\ln(1+x)} \\ &= (1+x) \sum_{n=0}^{\infty} c_n(z_1 + z_2) \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} (c_n(z_1 + z_2) + nc_{n-1}(z_1 + z_2)) \frac{x^n}{n!}. \end{aligned}$$

Next, since

$$\begin{aligned} \frac{d}{dx} \text{Lif}_k(x) &= \frac{1}{x} \sum_{m=0}^{\infty} \frac{mx^m}{m!(m+1)^k} \\ &= \frac{1}{x} \sum_{m=0}^{\infty} \left( \frac{x^m}{m!(m+1)^{k-1}} - \frac{x^m}{m!(m+1)^k} \right) = \frac{\text{Lif}_{k-1}(x) - \text{Lif}_k(x)}{x} \end{aligned}$$

and  $G_0(x) = 1 + x$ , we have

$$\begin{aligned} \sum_{j=1}^k \frac{d}{dx} G_j(x) &= \sum_{j=1}^k \frac{G_{j-1}(x) - G_j(x)}{(1+x) \ln(1+x)} \\ &= \frac{1}{\ln(1+x)} - \frac{G_k(x)}{(1+x) \ln(1+x)}. \end{aligned}$$

Hence,

$$\begin{aligned} &\sum_{n=0}^{\infty} T_2^{(k)}(n; z_1, z_2) \frac{x^n}{n!} \\ &= \frac{1}{(1+x)^{z_1+z_2}} \frac{x}{\ln(1+x)} G_k(x) \\ &= \frac{1}{(1+x)^{z_1+z_2}} \frac{x(1+x)}{\ln(1+x)} - \frac{1}{(1+x)^{z_1+z_2}} x(1+x) \sum_{j=1}^k \frac{d}{dx} G_j(x) \\ &= \sum_{n=0}^{\infty} c_n^{(1)}(z_1+z_2-1) \frac{x^n}{n!} - \frac{1}{(1+x)^{z_1+z_2}} x(1+x) \sum_{j=1}^k \sum_{n=0}^{\infty} c_{n+1}^{(j)} \frac{x^n}{n!}. \end{aligned}$$

Since by (6)

$$\begin{aligned} \frac{x(1+x)}{(1+x)^z} \sum_{n=0}^{\infty} c_{n+1}^{(j)} \frac{x^n}{n!} &= x(1+x) \frac{d}{dx} \frac{1}{(1+x)^z} \sum_{n=0}^{\infty} c_n^{(j)} \frac{x^n}{n!} + \frac{zx}{(1+x)^z} \sum_{n=0}^{\infty} c_n^{(j)} \frac{x^n}{n!} \\ &= x(1+x) \frac{d}{dx} \sum_{n=0}^{\infty} c_n^{(j)}(z) \frac{x^n}{n!} + zx \sum_{n=0}^{\infty} c_n^{(j)}(z) \frac{x^n}{n!} \\ &= x(1+x) \sum_{n=0}^{\infty} c_{n+1}^{(j)}(z) \frac{x^n}{n!} + zx \sum_{n=0}^{\infty} c_n^{(j)}(z) \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} (nc_n^{(j)}(z) + n(n-1)c_{n-1}^{(j)}(z)) \frac{x^n}{n!} + z \sum_{n=0}^{\infty} nc_{n-1}^{(j)}(z) \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} (nc_n^{(j)}(z) + n(z+n-1)c_{n-1}^{(j)}(z)) \frac{x^n}{n!}. \end{aligned}$$

we have

$$\begin{aligned} & \sum_{n=0}^{\infty} T_2^{(k)}(n; z_1, z_2) \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} c_n^{(1)}(z_1 + z_2 - 1) \frac{x^n}{n!} \\ & \quad - \sum_{n=0}^{\infty} \sum_{j=1}^k (nc_n^{(j)}(z_1 + z_2) + n(z_1 + z_2 + n - 1)c_{n-1}^{(j)}(z_1 + z_2)) \frac{x^n}{n!}. \end{aligned}$$

Therefore, we get the identity (4).

Finally, by

$$\frac{d}{dx} \text{Lif}_{-k}(x) = \frac{\text{Lif}_{-k-1}(x) - \text{Lif}_{-k}(x)}{x},$$

we have

$$\begin{aligned} \sum_{j=0}^{k-1} \frac{d}{dx} G_{-j}(x) &= \sum_{j=0}^{k-1} \frac{G_{-j-1}(x) - G_{-j}(x)}{(1+x) \ln(1+x)} \\ &= \frac{G_{-k}(x)}{(1+x) \ln(1+x)} - \frac{1}{\ln(1+x)}. \end{aligned}$$

Hence,

$$\begin{aligned} & \sum_{n=0}^{\infty} T_2^{(-k)}(n; z_1, z_2) \frac{x^n}{n!} \\ &= \frac{1}{(1+x)^{z_1+z_2}} \frac{x}{\ln(1+x)} G_{-k}(x) \\ &= \frac{1}{(1+x)^{z_1+z_2}} \frac{x(1+x)}{\ln(1+x)} + \frac{1}{(1+x)^{z_1+z_2}} x(1+x) \sum_{j=0}^{k-1} \frac{d}{dx} G_{-j}(x) \\ &= \sum_{n=0}^{\infty} c_n^{(1)}(z_1 + z_2 - 1) \frac{x^n}{n!} + \frac{1}{(1+x)^{z_1+z_2}} x(1+x) \sum_{j=0}^{k-1} \sum_{n=0}^{\infty} c_{n+1}^{(-j)} \frac{x^n}{n!} \\ &= \sum_{n=0}^{\infty} c_n^{(1)}(z_1 + z_2 - 1) \frac{x^n}{n!} \\ & \quad + \sum_{n=0}^{\infty} \sum_{j=0}^{k-1} (nc_n^{(-j)}(z_1 + z_2) + n(z_1 + z_2 + n - 1)c_{n-1}^{(-j)}(z_1 + z_2)) \frac{x^n}{n!}. \end{aligned}$$

Therefore, we get the identity (5).  $\square$

Putting  $k = 1$  in (4), we have the identity in Theorem 1.1. This is also an analogous formula to Euler product (1).



3. EXPLICIT FORMULAE FOR  $T_3^{(k)}(n; x, y, z)$ 

**Theorem 3.1.** For  $n \geq 0$  and  $k \geq 1$  we have

$$\begin{aligned}
 (7) \quad T_3^{(0)}(n; x, y, z) &= T_2^{(1)}(n; x + y, z - 1) \\
 &= -n(x + y + z + n - 3)c_{n-1}(x + y + z - 1) \\
 &\quad - (n - 1)c_n(x + y + z - 1), \\
 (8) \quad T_3^{(k)}(n; x, y, z) &= T_3^{(0)}(n; x, y, z) - (1 - 2^{-k})nT_2^{(0)}(n - 1; x + y, z) \\
 &\quad + n(n - 1) \sum_{j=1}^k (1 - 2^{j-k-1}) \\
 &\quad \times ((x + y + z)^2 + (n - 2)(2(x + y + z) + n - 2))c_{n-2}^{(j)}(x + y + z) \\
 &\quad + (2(x + y + z) + 2n - 3)c_{n-1}^{(j)}(x + y + z) + c_n^{(j)}(x + y + z), \\
 (9) \quad T_3^{(-k)}(n; x, y, z) &= T_3^{(0)}(n; x, y, z) + (2^k - 1)nT_2^{(0)}(n - 1; x + y, z) \\
 &\quad + n(n - 1) \sum_{j=0}^{k-2} (2^{k-j-1} - 1) \\
 &\quad \times ((x + y + z)^2 + (n - 2)(2(x + y + z) + n - 2))c_{n-2}^{(-j)}(x + y + z) \\
 &\quad + (2(x + y + z) + 2n - 3)c_{n-1}^{(-j)}(x + y + z) + c_n^{(-j)}(x + y + z).
 \end{aligned}$$

**Remark.** If  $x = y = z = 0$ , then by  $c_n(-1) = c_n + nc_{n-1}$ , then the relations in Theorem 3.1 is reduced to relations (55), (56) and (57) in [12, Theorem 6]. Namely,

$$\begin{aligned}
 (10) \quad T_3^{(0)}(n) &= T_2^{(1)}(n; 0, -1) \\
 &= -n(n - 3)c_{n-1}(-1) - (n - 1)c_n(-1) \\
 &= -n(n - 1)(n - 3)c_{n-2} - 2n(n - 2)c_{n-1} - (n - 1)c_n, \\
 (11) \quad T_3^{(k)}(n) &= T_3^{(0)}(n) - (1 - 2^{-k})n(c_{n-1} + (n - 1)c_{n-2}) \\
 &\quad + n(n - 1) \sum_{j=1}^k (1 - 2^{j-k-1})((n - 2)^2c_{n-2}^{(j)} + (2n - 3)c_{n-1}^{(j)} + c_n^{(j)}) \quad (k \geq 1), \\
 (12) \quad T_3^{(-k)}(n) &= T_3^{(0)}(n) + (2^k - 1)n(c_{n-1} + (n - 1)c_{n-2}) \\
 &\quad + n(n - 1) \sum_{j=0}^{k-2} (2^{k-j-1} - 1)((n - 2)^2c_{n-2}^{(-j)} + (2n - 3)c_{n-1}^{(-j)} + c_n^{(-j)}) \quad (k \geq 1).
 \end{aligned}$$

*Proof.*

$$\begin{aligned}
\sum_{n=0}^{\infty} T_3^{(0)}(n; z_1, z_2, z_3) \frac{x^n}{n!} &= \frac{1}{(1+x)^{z_1+z_2+z_3}} \left( \frac{x}{\ln(1+x)} \right)^2 (1+x) \\
&= \frac{1}{(1+x)^{z_1+z_2+z_3-1}} \left( \frac{x}{\ln(1+x)} \right) \frac{x}{\ln(1+x)} \\
&= \sum_{n=0}^{\infty} T_2^{(1)}(n; z_1+z_2, z_3-1) \frac{x^n}{n!}.
\end{aligned}$$

Hence, the identities (7) and (10) with  $x = y = z = 0$  hold.

By Lemma 1.3 with  $m = 2$

$$\left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_k(x) = \frac{(2G_k(x) - G_{k-1}(x)) - (2G_{k-1}(x) - G_{k-2}(x))}{(1+x)^2(\ln(1+x))^2}.$$

Thus,

$$\sum_{j=1}^l \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_j(x) = \frac{2G_l(x) - G_{l-1}(x)}{(1+x)^2(\ln(1+x))^2} - \frac{2G_0(x) - G_{-1}(x)}{(1+x)^2(\ln(1+x))^2}.$$

By multiplying both sides by  $2^{l-1}$  and summing over  $l$  from 1 to  $k$ , we obtain

$$\begin{aligned}
2^k \frac{G_k(x)}{(1+x)^2(\ln(1+x))^2} &= \frac{G_0(x)}{(1+x)^2(\ln(1+x))^2} + \left( \sum_{l=1}^k 2^{l-1} \right) \frac{2G_0(x) - G_{-1}(x)}{(1+x)^2(\ln(1+x))^2} \\
&\quad + \sum_{l=1}^k 2^{l-1} \sum_{j=1}^l \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_j(x) \\
&= \frac{(2^{k+1} - 1)G_0(x) - (2^k - 1)G_{-1}(x)}{(1+x)^2(\ln(1+x))^2} \\
&\quad + \sum_{j=1}^k \left( \sum_{l=j}^k 2^{l-1} \right) \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_j(x).
\end{aligned}$$

Hence, we have

$$\begin{aligned}
&\frac{2^k}{(1+x)^z} \left( \frac{x}{\ln(1+x)} \right)^2 G_k(x) \\
&= \frac{2^{k+1} - 1}{(1+x)^z} \frac{(1+x)x^2}{(\ln(1+x))^2} - \frac{2^k - 1}{(1+x)^z} \frac{(1+x)x^2(\ln(1+x) + 1)}{(\ln(1+x))^2} \\
&\quad + \frac{x^2(1+x)^2}{(1+x)^z} \sum_{j=1}^k (2^k - 2^{j-1}) \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_j(x),
\end{aligned}$$

where  $z = z_1 + z_2 + z_3$ . By Lemma 1.4

$$\begin{aligned}
 & \frac{x^2(1+x)^2}{(1+x)^z} \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_j(x) \\
 &= x^2 \sum_{n=0}^{\infty} (z(z-1)c_n^{(j)}(z) + 2(1+x)zc_{n+1}^{(j)}(z) + (1+x)^2c_{n+2}^{(j)}(z)) \frac{x^n}{n!} \\
 & \quad + x^2 \sum_{n=0}^{\infty} (zc_n^{(j)}(z) + (1+x)c_{n+1}^{(j)}(z)) \frac{x^n}{n!} \\
 &= \sum_{n=0}^{\infty} n(n-1)((z^2 + (n-2)(2z+n-2))c_{n-2}^{(j)}(z) \\
 & \quad + (2z+2n-3)c_{n-1}^{(j)}(z) + c_n^{(j)}(z)) \frac{x^n}{n!}.
 \end{aligned}$$

By comparing the coefficients of  $x^n/n!$  in both sides,

$$\begin{aligned}
 & 2^k T_3^{(k)}(n; z_1, z_2, z_3) \\
 &= (2^{k+1} - 1)T_3^{(0)}(n; z_1, z_2, z_3) - (2^k - 1)nT_2^{(0)}(n-1; z_1 + z_2, z_3) \\
 & \quad - (2^k - 1)T_3^{(0)}(n; z_1, z_2, z_3) \\
 & \quad + n(n-1) \sum_{j=1}^k (2^k - 2^{j-1})((z^2 + (n-2)(2z+n-2))c_{n-2}^{(j)}(z) \\
 & \quad + (2z+2n-3)c_{n-1}^{(j)}(z) + c_n^{(j)}(z)) \\
 &= 2^k T_3^{(0)}(n; z_1, z_2, z_3) - (2^k - 1)nT_2^{(0)}(n-1; z_1 + z_2, z_3) \\
 & \quad + n(n-1) \sum_{j=1}^k (2^k - 2^{j-1})((z^2 + (n-2)(2z+n-2))c_{n-2}^{(j)}(z) \\
 & \quad + (2z+2n-3)c_{n-1}^{(j)}(z) + c_n^{(j)}(z)).
 \end{aligned}$$

Dividing both sides by  $2^k$ , we have the identities (8) and (11) with  $x = y = z = 0$ .

Finally, since

$$\begin{aligned}
 & \sum_{j=0}^{l-2} \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_{-j}(x) \\
 &= \sum_{j=0}^{l-2} \frac{(2G_{-j}(x) - G_{-j-1}(x)) - (2G_{-j-1}(x) - G_{-j-2}(x))}{(1+x)^2(\ln(1+x))^2} \\
 &= \sum_{j=0}^{l-2} \left( \frac{2G_0(x) - G_{-1}(x)}{(1+x)^2(\ln(1+x))^2} - \frac{2G_{-l+1}(x) - G_{-l}(x)}{(1+x)^2(\ln(1+x))^2} \right),
 \end{aligned}$$

by multiplying both sides by  $2^{-l}$  and summing over  $l$  from 2 to  $k$ , we obtain

$$2^{-k} \frac{G_{-k}(x)}{(1+x)^2(\ln(1+x))^2} = \frac{(1-2^{-k})G_{-1}(x) - (1-2^{-k+1})G_0(x)}{(1+x)^2(\ln(1+x))^2} + \sum_{j=0}^{k-2} \left( \sum_{l=j+2}^k 2^{-l} \right) \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_{-j}(x).$$

Hence, we have

$$\begin{aligned} & \frac{2^{-k}}{(1+x)^z} \left( \frac{x}{\ln(1+x)} \right)^2 G_{-k}(x) \\ &= \frac{1-2^{-k}}{(1+x)^z} \frac{(1+x)x^2}{\ln(1+x)} + \frac{2^{-k}}{(1+x)^z} \frac{(1+x)x^2}{(\ln(1+x))^2} \\ & \quad + \frac{x^2(1+x)^2}{(1+x)^z} \sum_{j=0}^{k-2} (2^{-j-1} - 2^{-k}) \left( \frac{d^2}{dx^2} + \frac{1}{1+x} \frac{d}{dx} \right) G_{-j}(x), \end{aligned}$$

yielding the identities (9) and (12) with  $x = y = z = 0$ .  $\square$

#### REFERENCES

1. G.-S. Cheon, S.-G. Hwang and S.-G. Lee, *Several polynomials associated with the harmonic numbers*, Discrete Appl. Math. **155** (2007), 2573–2584.
2. L. Comtet, *Advanced Combinatorics*, Reidel, Dordrecht, 1974.
3. K. Dilcher, *Sums of products of Bernoulli numbers*, J. Number Theory **60** (1996), 23–41.
4. R. L. Graham, D. E. Knuth and O. Patashnik, *Concrete Mathematics*, Second Edition, Addison-Wesley, Reading, 1994.
5. E. R. Hansen, *A table of series and products*, Prentice-Hall, Englewood Cliffs, NJ, 1975.
6. K. Kamano, *Sums of products of Bernoulli numbers, including poly-Bernoulli numbers*, J. Integer Seq. **13** (2010), Article 10.5.2.
7. K. Kamano and T. Komatsu, *Poly-Cauchy polynomials*, Mosc. J. Comb. Number Theory **3** (2013), (to appear).
8. K. Kamano and T. Komatsu, *Explicit formulae for sums of products of Bernoulli polynomials, including poly-Bernoulli polynomials*, Ramanujan J. (to appear). DOI 10.1007/s11139-013-9509-8.
9. M. Kaneko, *Poly-Bernoulli numbers*, J. Th. Nombres Bordeaux **9** (1997), 221–228.
10. T. Komatsu, *Poly-Cauchy numbers*, Kyushu J. Math. **67** (2013), 143–153.
11. T. Komatsu, *Poly-Cauchy numbers with a  $q$  parameter*, Ramanujan J. **31** (2013), 353–371.
12. T. Komatsu, *Sums of products of Cauchy numbers, including poly-Cauchy numbers*, J. Discrete Math. **2013** (2013), Article ID373927, 10 pages. available at <http://www.hindawi.com/journals/jdm/2013/373927/>
13. D. Merlini, R. Sprugnoli and M. C. Verri, *The Cauchy numbers*, Discrete Math. **306** (2006) 1906–1920.
14. N. E. Nörlund, *Mémoire sur les polynomes de Bernoulli*, Acta Math. **43** (1922), 121–196.
15. F.-Z. Zhao, *Sums of products of Cauchy numbers*, Discrete Math. **309** (2009), 3830–3842.

Takao Komatsu, Graduate School of Science and Technology, Hirosaki University, 036-8561 Japan, *e-mail*: komatsu@cc.hirosaki-u.ac.jp